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Test 2: Mathematics—Scoring Key

Reporting Category*

PHM

Key, N | A | F ! G |

IES

MDL

DOND O RGN

—
o
FOIMEPUIPITMUNMUIEIDAROXR>IMIMMMIO

o

—

p: 10

1572CPRE

Reporting Category*

PHM

Key| N{ A F G ! S

IES (MDL

3. D
32. K
33.-B E . 5
34. H b
3. D
36. J i ‘ i
37. A : : ;
38. F ! i
39. B
4. F
41, E
42 K ’
43, D T
44, G
45. D i
46, J
47. B
48. G ! ; :
49. A | e i
50. F ' i
51. E
2. H ;
53. B ; |
54, K | '
55. E
56. K
57. A | .
58, K g
59. E
60, J i

o,

o

Combine the totals of these columns and put in the blank for PHM in the box below.

*Reporting Categories
PHM = Preparing for Higher Math
N = Number & Quantity.
A = Algebra
F = Functions
G = Geometry
S = Statistics & Probability
iES = Integrating Essential Skilis
MDL = Modeling

Preparing for Higher Math {PHM)}
(N+A+F+G+8)

Integrating Essential Skills {IES)

Total Number Correct for Mathematics Test
(PHM + IES)

Number Correct (Raw Score) for:

(35)
{25)

(60)

Modeling (MDL)
{Not included in total number correct for

mathematics test raw score)

(22)

58



